JMÉNO:							DATUM:

1) Příklady správně přepiš pod sebe a vypočítej.
1 631 053 – 537 408  =
904 007 + 2 516 208 =
735 620 . 50 =
8 469 . 74 =










2) Vypočítej příklady a proveď zkoušku.
84 085 : 3 =						65 468 : 3 =








3) Převeď jednotky.

5 000 cm = 		m
60 dm = 			mm
40 km = 			m
703 dm = 			cm
8 000 dm = 		m

2 hodiny = 		minut
10 hodin = 		minut
5 minut =			sekund
20 minut =			sekund
1 den = 			hodin


4) Urči, kolik je tato část z celku.

1
4 

5
6

2
3

4
6

3
5















[bookmark: _GoBack]z 36 =


ze 42 =


z 15 =


ze 48 =


z 20 =

